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00oo000o0o0o0oo0o0oD (1)0b 4ooooooooo0ooo0oooo0oooo0o
ubboobooboobboboboobuooboobobooboobobooboboobon 210
000000000 (Classfication Table) D 00O

0 2.1: 00O (Classfication Table)

00
0000000 (0000000000

0| oooooodo TP(1) FP(2)

0 00000000 FN(3) TN(4)

ON/SOD

000000000000000220000000000000

0000000000000000 N,0OOOOOO0OO0O000000000 N,DO0oooOo
00000000000000000000007TPO000O000000000000 N,000
000 S(Signa) 000000000000 00000000000000 FNOOOOOOO

0000000000 N,OODODOOO N(Noise)DOOOOOOO
FN TP

N_ N _1Ir 2.1
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000DO0 29000

E E = —(plogp+ (1 —p)log(1—p) )

| /

0 0.5 1
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